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1= kbdk'/ 608 hgf  4=07% 9982 
hgf 

66=88% 385 hgf 2=57% 3949 hgf 26=46% 

2= h'^kfgL  1120 
hgf 

7=81% 7130 
hgf 

49=77% 30 hgf 0=20% 6044 hgf 42=19% 

3= 
zlStvf]/ 617 6=55% 6761 

hgf 
71=78% 12 hgf 0=12% 2028 hgf 21=53% 

4= 
l; L  54 hgf 1=41% 3761 

hgf 
98=27% – – 12 hgf 0=31% 
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1= 
kbdk'/ 2430 

hgf, 
50=46% 

 2385 hgf 49=53%     

2= h'^kfgL  2153 hgf 51=12% 2058 hgf 48=87%     

3= zlStvf]/ 1782 hgf 51=22% 1697 hgf 48=77%     

4= l; L  782 hgf 49=55% 796 hgf 50=44%     
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1= kbdk'/ 609 hgf 49=71% 616 hgf 50=28%     

2= h'^kfgL  726 hgf 52=83% 648 hgf 47=16%     

3= zlStvf]/ 1488 hgf 56=15% 1162 hgf 43=84%     

4= l; L  1454 hgf 64=82% 789 hgf 35=17%     

 
 


